BOARD OF SECONDARY EDUCATION KARACHI

NEW MODEL QUESTION PAPER
S.S.C. (ANNUAL) EXAMINATIONS 2022
MATHEMATICS (CLASS X)

Time: 3 Hours (GENERAL GROUP) Total Marks: 75
Regular & Private Candidates

SECTION <A’ (40%)
MULTIPLE CHOICE QUESTIONS (M.C.Qs) (30 Marks)

Q.1 THIRTY (30) MCQs WILL BE GIVEN FROM WHOLE SYLLABUS.
Each question carries 1 mark.

SECTION “B” (40%)
(SHORT ANSWER QUESTIONS) (30 Marks)

Note: Attempt any Six (06) questions from this Section. All questions carry equal marks.

Q.2  Divide x® +4x° - 16x3 + x + 2x + 3 - 3x* by x®+4x*+ 1+ 2x
1 1
Q.3  Findthe value of x* + p | when x + e 4

5

Q4 IfA= [_1

—6 3 .
2 ] then find A

Q5 If A=2 -4x*-5, B=4x>-9x-8x*+3 and C=-6x°—3x®+2-5x
then find the value of A+ B + C.

Q.6 Simplify by using formula (1005)?

=g

Q7 If A= [3 i

B = [g 3] then find AB

Q.8 Ifa—b=3, ab=28 then-findthevalue of a- b

Q.9  Solve the following simultaneous equations

2
-3x+4y=0; x-4y =3

Q.10 InaAABC, 2C=90°, AC = 6cm, BC = 8cm then find the length of AB.

Q.11 Define (any two)
(i) Line Segment (ii) Obtuse Angle (iii) Diameter
OR

Construct a A ABC, in which m AB = 4cm, m 2 A =60°, m 2 B = 45°

SECTION ‘C’ (20%)
(DESCRIPTIVE-ANSWER QUESTIONS) (MARKS: 15)

Note: Attempt any TWO (02) questions from this section. All questions carry equal marks.

Q.12 Factorize the following (Any three)

i)  x3+8
(i) x*—17x+60
(i) 4x*+81

(iv)  (x+yy-2
(V) ab +xy + by + xa

Q.13  Evaluate with the help of a formula:
(416)3+ (84)3
(416)2-416 x 84+ (84)2

Q.14 The radius of a circle is 6cm. Find the length of its 45° arc and area of the same degree sector.
OR
If a diameter of a circle is perpendicular to a chord, it bisect the chord. Prove it.
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